A B, C D géu prre\)eu@m gL meflwins Qmpgeant.

@wnu Bl eldlgd 3:2:3:2. seely Ceduenm
Sleutaarg @ULbleed GolLi lﬁlmm@mn@j
Qumuiiysedr  ep.  Censgisser .

WP &/ @ : Gemggisser 17,000

A 10,000 wse &/@ :

B 50000 C 6,360
eriy g - 4000 D 1,640
sLaipCsmm 6,000 '

25,000 ; 25,000

b5 GsHulles C Sanmwrermt. euflLbimbe
mumis@ 50 euer QupliulLg. Qurss edpuemen
o forgsg 5. 12,500, sowoliy Gsoeiand
. 400. Goeeuwner Siey savsHeaanyn C-ufer
APRFET HEMEHGSMETLLD SUITflEsaLD.
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(For the candidates admitted from 2008-2009 onwards)

B.Com. DEGREE EXAMINATION, NOVEMBER 2017.

Second Semester
FINANCIAL ACCOUNTING

(Common for B.Com. (CA))

Time : Three hours Maximum : 75 marks

PART A — (10 x 2 = 20 marks)
Answer ALL questions.

State any two objects branch accounts.
Sevars samsdlen CseD @) CrrésnIsmaTs s mis.
What are departmental accounts?

glemeuiil HERTE&SHET CTETLIAT GTeneu?

State any two features of single entry system.

gnen ufley apepuier gCsgid Qe SibsmsmaT
GG,



10.

What is meant by Conversion methdd?
LIHMISED (Perm LHD idleug eremme?

What is partial repossession?

UGS 2 enL_EnLD GTETDITE) GTEHEN?

What is meant by instalment purchase system?
geuamantd ameTpga e LN ileug eTerer?
What is sacrificing ratio?

Swing elldlsb erenmmed erevmen?

What is joint life policy?

Qanant pu et STUSL (HS S L b eTenmTed eTane?
What is realisation account?

Eitey HeTéE GTENDTE) GTEa?

What is meant by insolvency of all partners?

Smarsgl sl Lmaflgatien Qpmg L Hlane ubhb ideug

GT GOTGUT?

2 S.No. 986
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(a)

PART B — (5 x 5 = 25 marks)
Answer ALL questions.

Loyal Shoe Company opened a

branch at

Chennai on 01.01.2016. Prepare branch

account for the year 2016.

Rs.
Goods sent to branch 15,000
Cash (expenses) : 6000
Cash from the branch 24,000
Stock on 31.12.2016 2,300
Petty cash on 31.12.2016 40

2016 spaeul pse Codwiemm emue @ sbEue
Qeeevanudey e Hameranws Hopsg. 2016-b
@ (HEGNIL Haners saméans ST C&ls.

Hanerd @ AL 78S ik

: (Q&w’ma;eﬁ) Qyr&sLd

Haerdempg Qrresd 2
31.12.2016-e 875
31.12.2016-6 Sldvevenn Qrrésd

Or
3

€.
5,000.
6,000
4,000
2,300
40

S.No. 986



(b)

A company has two departments A and B.
A department supplied the goods to B
department at its usual selling price. From
following figures, prepare Departmental
Trading Account for the year 2015.

Depart. A Depart. B

Rs.) (Rs.)
Stock on 01.01.2015 30,000 -
Purchases 2,10,000 -
Transfer to department B 50,000 50,000
Sales 2,00,000 60,000
Stock on 31.12.2015 40,000 - 10,000

e® Hpworag A wpob B agb Qo
gleopsmer  Qaraw@ererg. A geopuraig
B gioopé@ seg odpueen elaauden wdine
QurmeTaener QULPMI @GSl
saeumsafladBbg 2015-2b yermqe gienpsafien

Yetmeu(mHLd

WUy seréens SWmilé&Es.

goop A giop B
(@) (o)
01.01.2015 sjemenmws s7&HmLILY 30,000 -
Qamemapsed 2,10,000 -
B giovmag wmpilwg, 50,000 50,000
allpuenen 2,00,000 60,000

31.12.2015 yenenmuwt FrsdlmLiLy 40,000 10,000

4 S.No. 986

12.

(@)

Mohan, retail merchant commenced business
with a capital of Rs. 12,000 on 01.01.2015.
Subsequently on 01.05.2015 he invested
further capital of Rs. 5,000. During the year.
he has withdrawn Rs. 2,000 for his personal
use. On 31.12.2015 his assets and liabilities
were as follows :

Assets and Liabilities  Rs.

Cash at Bank 3,000
Debtors 4,000
Stock 16,000
Fur_‘niture 2,000
Creditors ~ 5,000

Calculate the profit or loss made during the
year 2015.

01.01.2015 ey Cuwrsenr @b  SHowap
eQwmurfl e, 12,000 @pseer  eflwimumyd
Qsrdlemi. Cuaib Qgm_réflwrs 01.05.2015
e et ep. 5,000 salhiser wgod Gumimm.
D|CUGUTEMTIG6) QU (HENLWI Qerrr;'r;g, LI &S

. 2,000 er(Dsgs@amenrmr. 31.12.2015 <iamm

Sleurg) Q&ngg}ésasm wHML  QurmItiyser
GereumLomm @) (HHS).
5 S.No. 986



13.

(b)

(a)

Qenggisser wHmd QUIMLILSET 5.

aumdluler Qprssid 3,000
BSII_GMFTQ'ﬂGSGiT : 4,000
s768 UL : 16,000
<3| EHD 66T 2,000
sLabCHTaeT 5,000

2015 oylb eirgd @MU DG BLLFMS
sasS (Hs. :

Or

Distinguish between single entry system and
double entry system.

ghop ufe; op wHpd @i e
wparparw CaumLi (N85

Bangalore Motor Service buys a motor car on
instalment system from Hind Motors Ltd.
On 01.01.2011 under which payment is to
be made on December 31 for 4 years @
Rs. 50,000 pa. interest being calculated at
5% pa. The cash price of the car was
Rs. 1,77,300. Depreciate the car at 10% p.a
on diminishing balance method. Calculate
the amount of interest included in each

. instalment.

6 S.No. 986

(b)

QumsesT CuorlLrr greiay geuament wpampuie
01.01.2011 =erm Qg Corlimm Slnwsdiid
Qb @ Corlimt sty  eummEWE.
eubleumm parr(Hid webur 31 e en. 50,000
aigld  mrenE WMHHEHGEEG Cgraswreag
AeasasiiuL. Couam(ib. el iquimang e (HeE
5% <@w. Corliirr sriler  Qrréselene
5. 1,77,300. e qammisie; 10% Cyiionemoreng)
G@DHE Gae i apapnuled sammaHLLILHSDg.
geuleurm seumeans Cgrensuligyid 2 6rer el lg
QsTanseniLl saTss(Hs.

Or

On 01.01.2012 X bought a machine under
Hire Purchase system for Rs. 51,000 payable
by three equal instalments combining
principal and interest, the latter being a
normal rate of 5% per annum. Calculate the
cash price. (The present value of an'annui-ty

of one rupee for three' years at 5% is
Rs.-2.72325).

01.01.2012 <yemm X eremueur ¢ @updHrsms
aurLens  dardaripse  peopuier  eummidlear,
DIBDE (PN FID  SEUMEUIGETTE  GULIg UL 6T
Gerégl m. 51,000 Qeauss CeuamBid. Ul g winas)
Q) @amsEE 5% @b, Qrrss elmeamw

- sasSlDe.  (5%-5He eparmy  ETHSEREES

EHUMTL @eTmiseETeT BLLIL| UL arhs Csrams
(. 2.72325)

7 S.No. 986



14.

(a)

R and S were Partners sharing profits in the
ratio of 5:3. In view of V’s admission, they

decided to revalue their assets and liabilities -

as indicated below :

(1) - ‘To 1increase the. value of Land by
Rs. 30,000

(i) Reduce reserve for doubtful debts by
Rs. 400

(i) Reduce machinery by Rs. 8,000
Furniture Rs. 2,000 and Stock Rs. 6,000

(iv) Provision for outstanding liabilities
was to be created of Rs. 400

Give Journal entries.

R wpmd S sl Lreflurs Cergg orusms 5:5 |

gan elflsgde GAszs  Qarardlampert.
euiser V' eaeueuey sl Lmelwns Gerés
SpssamLeury  Cdersemgud, Gurmliepuwybd

woLHIEE Qalidlerme.
@) Hegser wllienu 5.30,000
<HsLL(H SIS

(1) gussaearen. 400 ganpLiug

(i) Qupdlrs semsdd . 8,000 empseafia
em. 2,000 s7&dlen em. 6,000 @enpLiug

(iv) Qsr@ur Ceuamgqw Qumrmisemer ¢p. 400
sr_(heug
GGy e udley Qswis.

Or
8 S.No. 986

(b)

P and R are partners sharing profits in the
ratio of 3:2 on June 30, 2016; their balance
sheet showed the following :

P’s capital — Rs. 40,000; R’s capital — Rs. 30,000;
Reserve — Rs. 20,000. ‘P’ died on 1t October
2016. His heirs were entitled to

(1) His share of goodwill worth Rs. 40,000

(11) Interest on capital of Rs. 20% p.a

The firm has taken a joint life policy of
Rs. 50,000. P withthew Rs. 30,000.
Show his capital account to ascertain
the amount payable to his heirs.

P wog R alimafsdr 32 ofdssde

Qerusmst udliflament. sroer 30, 2016
pretenenpll  Seuisery  @mUuyblee  GHluy
Yemeu(mLomm :

P-wden epegeand — ep. 40,000, R-uler ppagard —
ej. 30,000 sy — em. 20,000. 9&CLrmur 1, 2016
ey P sroweldprt.  oeurg  eunfls
Qeneu@Licupenn Qup 2 fenwwrergrdmmi.

@) oerg uvmdpsrer pOGAUWT WSO

em. 40,000

(i) opogend WBsrem eully yarHEG 20%

pHneuead @ sl (H et sTISLHS
fligms . 50,000-p@ aOSSGHSS!
P @m. 30,000 eQ@sgerermi. P-ulen
anflesg Coy Caargw Gsraseamws
sa&SLS Comeunan (psaTs SaTEma
swmt Qs

9 S.No. 986



15.

(a)

The Balance Sheet of M, N, O was as follows
on 31.12.2016.

Liabilities Rs. Assets Rs.
Creditors 40,000 Cash ‘ 2,000
B/P 20,000 Debtors 8,000
Capital : Stock 40,000
N 30,000 Fixed assets 54,000
(0] 20,000 M’s Capital a/c 6,000

1,10,000 1,10,000

‘M’ was insolvent and his estate was able to
pay only Rs. 6,000 in full settlement. The
assets other than cash realised only
Rs. 72,000. Show the ledger a/c to close the
books of the firm using Garner Vs Murray
ruling.

M, N wpgid O fCumflenr 31.12.2016 ey

@iy Hlenad @GPl Gemeumwmm :
Qummiiiyser  ¢m. QFrsgsaeT €.
sLatpCgri 40,000 Qyrésid 2,000
Qe.1om.&. 20,000 sL_ameflsar 8,000
P& : F7&SlmULY 40,000
N 30,000 flenavs Qemgg 54,000
0) 20,000 M @pge &/ @ 6,000
1,10,000 1,10,000
10 S.No. 986

et

(b)

‘M Seurenem. Seurg dersdlel®mbg) . 6,000
Qupliul® ewwns SieléEE ghaiulLg).
Qugsd sely gaaw Qerggéser . 72,000
ol HGw uarrdwg. srre (er) wprCr allfeanws
vweatu(sd Comeuwinar saT&E@GEmeT S lg
(Plg-886LD.

Or

The Balance Sheet of X, Y and Z who were
sharing profits in the ratio of 3:1:1 stood as
follows. On 381.12.2016 is the date of
dissolution.

Rs. Rs.

Sundry Liabilities 1,05,000 Cash 1,000
X’s Capital 15,000 Bills Receivable 4,000
Y’s Capital 10,000 Debtors 25,000
Stock 40,000

Plant 30,000

Goodwill 10,000

Z’s Capital 20,000

1,30,000 1,30,000

Assets realized Rs. 79,750. Realisation
expenses are Rs. 2,000. Assuming all the
partners are insolvent. Close the books of the
firm by preparing necessary ledger account.

11 S.No. 986




Qeorugms 3:1:1 eam alfssle uSlThgl PART C — (3 x 10 = 30 marks)
Qararend X, Y wimibd Z eremp salLmaflsatler '

Qooy  Heows efiy 31122016 sy | Answer any THREE questions.
Sipsaemoumn) : ‘ 16. A Mumbai head office sent goods to Chennai
5. 5. . Branch at 25% profit over cost. Prepare the
LegriLlL Qurgiiyser 1,05,000 Qpnésn 1,000 ' necessary ledger accounts in the books of Head
| ffice.
X-én gpavgenid 15,000 auyGaueiiq s 4,000 St
I Rs.
Y -6 epagantd 10,000 & amtatser 25,000
Opening stock at Branch at invoice price 20,000
&S muY 40,000
Quipind 30,000 Goods sent to Branph at invoice price . 90,000
A 10.000 Loss in transit at invoice price 6,000
7-én ppevsganid 20.000 . Pilferage at invoice price 1,200
1,30,000 1,30,000 Closing stock at cost to Branch 16,000
: j Sal
QsrsgEscie  BEHE Qubia: @, 79,750 ales at branch. 1,05,000
Apprés  Qeeaser . 2,000 mersg Salaries and wages at branch 6,000
sl LrallsEpd Qpmgly  Haoe oL ps l Other expenses at branch : 3,000
el i 31.12.89-é Sl _L_TEHTEmLD . :
8 ! Chennai branch received Rs. 4,000 from insurance
SaLILIL ) @ GT &5 (5,56 6T ] : ;
i gL "D company in settlement of the claim for the loss of
swirfl&EsayLd.

goods in transit.

12 S.No. 986 13 S.No. 986
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2Lssellenes 1Bg) 25% Gemuib Ceirgg Qeemeaangierer
éﬁ]mmét@ enuiuldlgyeer SOVEDLOWISLONGNG| Frddlane
S@Lug. sooamows gliyd Cemeanwrear CuGH
&GS SWTES.
; (.

Qi eneuder Henarlguerar Ogmiss 20,000
ET&E (LI

Qrmiy alleveuder Hevars@ i sys@ 90,000

Qrriy eleeudies 2 erar auifludient pL L b 6,000
@Lmiy eflenevudey 2 erar &mL_H 1,200
Severuflen oi_ssedeeude Qmidl srsdmiy 16,000
anemuiler eNpLiener 1,05,000
Sleveruiled Flaipbs FbuaTd LHMILD &6l 6,000
Slenerulgyerer @y Qeawedaniser 3,000

auluflent BLLSSDG aTlyre sTULL ()
BpwsdLblmps Csemen foar Qupn  Osrans
em. 4,000.

Following is the position of assets and liabilities of
Mr. Arumugam who keeps his book by single entry:

January 1, 2016 December 31, 2016

(Rs.) [Rs.)
Debtors 5,300 8,800
Creditors 1,500 1,950
Stock - 1,700 1,900
Fixed Assets 2,140 1,740

14 S.No. 986

Additional information :

" Total sales (including cash sales Rs. 500) Rs. VIO,OOO

Total purchases (including cash purchases
Rs. 2,050) Rs. 4,500 '

Payment for fixed assets Rs. 500
General Expenses Rs. 1,000
Drawings Rs. 300

Cash in hand at the end Rs. 410

Stock of Rs. 500 was used by the proprietor for his
personal use. Allow interest on capital at 5% per
annum. Prepare trading and profit and loss account
for the year ending December 31, 2016 and a
Balance Sheet as on that date.

WesreuHd Qemsgsser wHmib GurmliLseTTang) eHenD

udey wparnuied hismer LFTORA&EGD & BMPSLD

GTEITLIGU (5 & TG i
sgamauifl 1, 2016 &bum 31, 2016

(em.) (em-)

sL_anmerlger 5,300 8,800

sLabCSHTIEET 1,500 1,950

g7 mLL 1,700 1,900

ﬁmwé@&nggﬂéﬁm 2,140 il 7atg)
vk ' S.No. 986



18.

F(HB elleurmiIsET :

Qumgs efpuean (en. 500 wHeLw Aymés eflhueer
Gempgiereng)) ¢h. 10,000

Qurss Qsmarapse (M. 2,050 wHliyamLw Qyrés
Qaemerpse Cambgierarg) op. 4,500

Heaesdarsgssns dsgsdug m. 500

Qurg)eumen Qeavel ariiser em. 1,000

erLiyser em. 300

@mdude o drar wsaF Qurésbd em. 410

e5.500 e w Fr&Sl(mULTag) Qembs
> LGUTEESHHETE 2 Menwimerymed LwWeTUHSSILILLEI-
Q@® gomsE 5% opsd By el
SigiodésiiulLg. gepur 31, 2016-46 pyeuamLud
ger@ssrar  elurury  wHoL  Qoru pLLS
samE@ELD, pprmen QULBlews GHluemuud
swiés.

Malan purchased a machine on Hire Purchase
System on 1st January 2013. The terms of
payment are four annual instalments of Rs. 12,690
at the end of each year. Interest is charged @ 5%
and is included in the annual payment of
Rs. 12,690. 3

Show machinery account and hire vendor account
in the books of Malan who defaulted in the
payment of the third yearly payment where upon
the vendor reposed the machinery. Malan provides
depreciation on the machinery @ 10% p.a. on
reduced balance.

16 S.No. 986

19:

1 gareufl 2013-é wreer @@ QUbHTEms auT._mas
Gsmerapged peopuder  eumhidleantt.  Qsr@sseden
ETSHSIHETTEUGT geuleurm e pigelaiors
. 12,690 préE AMOS Seumeanaer ey 5%
a@dEsILGEDE. S5 gan(®  Qegissise
. 12,690-e Gairbgierarg.

wreoaler Ussasdad QuUbTs samsmsud aurLms
eflpuemanurert  semsmsLD  sraTd.  aperpTEIZ)
AATOS  SeUMETEL  Sjeurt SLLS seudlugenme
eflpuemanurert . @Quipdlrsms  Hmbu  THEEE
Osmaprmi wrwar QuibSrsded @amey LG
10% e (& Coiwnand Qar@sSpn.

Anand, Babu, and Sunder are sharing the profits
in the ratio of 3:2:1 respectively on 31.2.2016 and
Balance Sheet of the firm stood as follows :

Liabilities Rs. Assets Rs.
Sundry Creditors 13,590 Cash 5,900
Capital : Debtors 8,000

Ananth 15,000 Stock 11,690
Babu 10,000 Buildings 23,000
Sundar 110,000 »

48,590 48,590

17 S.No. 986



Babu retired on the above mentioned date.

(a)
(b)

©

(d)

Buildings be appreciated by Rs. 7,000

Provisions for Bad debts be made at 5% on
debtors.

Goodwill account of Rs. 9,000 of the firm
created.

Rs. 5,000 be paid to Babu immediately and
the balance may be treated as loan.

Give necessary ledger al/c, show the new
Balance Sheet.

@S, LML, SHST eremm epeu(md 3:2:1 eramm aldgsdle
Ufggis Gamardlament. 2016 wgebur 31-b preverw

QLY Hlenevds @l G etreumLomy :

- Qumgliyser (1.

Qerggiseer .

upue sLepCsmm 13,590 Qyrésd 5,900

 sLanmmeflser 8,000

wpse:
ST 15,000 spadlmiy 11,690
L 10,000 &g b 23,000
S 10,000
48,590 48,590
18 S.No. 986

20.

umy CuGe @hludl L GCadluler eledarmi.

(=1) siliigLid em. 7,000 flasflss Couar(did

() pwssLean pg680 sLamallser Bg 5% o mourss

(&)

G

Geuanr(Hid
BHGLWT 6. 9,000 2 (Heurss Geuart(Hid

- 5000 umyeEE oLengwurs QerHés
Gouenrr(®d denws sieuflen sL_amrs Qamers.

Gemaumw GUCTL(& sansEsmar  allss)

Hw QLY Hlenavs Gy eueys.
A, B, C, D were partners in a partnership their
profit sharing ratio was 3:2:3:2. Their balance
sheet on the date of dissolution was as follows :
Liabilities Rs. Assets Rs.

Capital : Assets 17,000

A 10,000 Capital a/c :

B 5,000 C 6,360
Reserve fund 4,000 D 1,640
Creditors 6,000

25,000 25,000

C become insolvent. 50 paise in a rupee was
received from him. Assets realized Rs. 12,500.
Dissolution expenses amounted to Rs. 400. Prepare
realization account and C’s capital account.

19 S.No. 986



